[IlenOepre OanIaHbICTHI
TeopeMaliap (LICHTPIIK KOHE 1IITEH

CBI3bLIFaH OYPBIIITAPAbI €CCOTEY)



CabakTblH MaKcaThbl :

B 9.2 LLleHOep xopaacbIHbIH, KACUETTEPIH
asnengenai xeHe kongaHaabl (KublibicaTblH
XxopaanapablH KeciHAINepiHiH kKebenTiHaici Typansl;
LeHbep LeHTPIHEH Dipaen KallbIKTbIKTa KaTkaH
xopaanap Typansl), KubinbicaTblH Xopaanap Typanbl
TeopemMaHbl binepi

B 9.3

bipoen weHbepnepaiH xopaanapbl TeH donaabl
coHOa Tek coHaa, erep onapablH
nepneHankynsipnapbl TeH bonca;



CabakTblH MakcaTTapbl:

s«LleHmpriK »xoeHe iwmeu cbi3blriFaH bypbitumap» makbipbiObl
boubiHWa meopusisbik 6inimoepdi Xxyuerney;
*Ecen webirapy OaroblriapbiH 0aMbimy.

Lesson objectives:
« Jo systematize the theoretical knowledge on the topic "The
central and inscribed angles."
*« Improve problem solving sKills



EH6ek emceH epiHbell, Repetition is the mother of learning

Tosi0bI KapHbIH minebeu!
lTloemopeHue — Mmamsb y4yeHusi!




Tebeci WweHbepaiH iLWKi HYKTeciHae
opHanackaH BepTukanb dypbiliTap
XKYObIHbIH 8pKancbICbl LLeHOepOiH OChbl
bypbiluTap KabbipFanapbIMEH LUEKTESTEH
OofarapblHbIH )XapbiM KOCbIHAbICBIMEH
enweHeal
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LLleHBepaeH ThicKapbl KMbIMbICATbIH EKi
KMIOLLIbIHbIH, apacbiHAafFbl Oypblill OCbl OYpbILL
KabblpFanapbiHblH apacbiHAarbl AoFanapabiy
>KapbIM arblpMacbiHbIH abcontoT

LlamMacbIMeH erniieHenl




Intersecting Chords Theorem

Interior segments are formed by two intersecting chords.
Theorem:

If two chords intersect within a circle, then
the product of the lengths of the parts of
one chord 1s equal to the product of the

lengths of the parts of the second chord.

a*b=ced




Intersecting Secants/Tangents

Exterior segments are formed by two secants, or a secant
and a tangent.

E

Two Secants Secant and a Tangent



Intersecting Secants Theorem

If two secant segments are drawn to a circle from an
external point, then the products of the lengths of the
secant and their exterior parts are equal.




Example:

In the figure; if BC = 6cm, AD =2cm, AB=4cm. Find x.

aom ,pn ABeAC=AD e AE
N 40]10=2e(2+x)

40 =4+ 2x
36 = 2x
X =18 cm
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Secant and Tangent Theorem:

The square of the length of the tangent equals the product
of the length of the secant and its exterior segment.
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Example:

In the figure if AD =9cm, and AC =25c¢m. Find x.

AB* = ADe AC
. x> =9e25
c o Jem ] x=+225=15 cm

25 cm



ECEINTEP WbIFAPY
PELWWEHWE SA0AH

TASKS






Kahoot




Pedonekcus:

* HEHI OinaiM, HEHI ynpeHaim
* - HEHI TONbIK TyCiHOEeOim
* - HEMEH XXYMBbICTbI XanfacTbIpy KaxeT



